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https://www.medrxiv.org/content/10.1101/2021.05.22.21257658v1
https://covid.cdc.gov/covid-data-tracker/#vaccination-demographic
https://www.gov.il/he/departments/publications/reports/research-report-n226-variants
https://www.gov.il/he/departments/corona-national-information-and-knowledge-center
https://go.gov.il/covid19-status
https://www.gov.il/he/departments/publications/reports/research-report-n211-r-calculate
https://www.gov.il/BlobFolder/reports/contagion-coefficient/he/daily-report_further-information.pdf
https://www.gov.il/he/departments/publications/reports/research-report-n211-r-calculate
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